7-1 Rational Graphs

Objectives:

[ can determine the domain, range, symmetry, end
behavior, and intervals of increasing and decreasing of
rational graphs.

[ can identify the transformation of a given function and
sketch a graph

[ can write a rational equation given a graph.
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Based on the equations and corresponding graphs, what do
you conclude about the transformations?
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Sketch a graph and analyze of the following.
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Based on the conclusions you made, work with a partner to write an equation
based on the following graphs.
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When given a rational function in the form of S(x)= px+
wherem # 0 and p # 0, you can use division to re-write the
function in a form to identify the transformations.
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Given f(x)= , use division to re-write the function and

identify the transformations. Then sketch a graph and analyze.
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